oS AP A Fo| A M4 (-1, 4) 7F 7t HE AL BE 12
9

3
D)3x -2y =-11 @4x—§y:10
@—2x+3y=14 @ -7x+2y=5

® -0.5x+ 25y =11

(-1, 4) € AL  Fol He 42 O, @Eolrt.




2. (@) @b =a’b" G, x+y 9] F2?

@ 2 @ 3 ® 4 @5

B

21x\3 - V3 — ,673x
(@*b¥)° + a’b®> = a®b X =53

:aﬁ—yb3x—3
=a5b9
6-y=5 .y=1
3x-3=9 ..x=4
Lx+y=5




of® FAAE Afst=dl A4fHl= 712 500 F7HA= 22000 €Ol L,
F7F& o AdafistE ™ 10 3 300 @ol =t o] Farx| ] jF H
A4H]7E 35 A olshrt HeHH 2 A ol = CdJHoHOF 5=

® 1500 % (@)1400 € ® 1300 %

@ 1200 % ® 1100 &

B ~

272 st A F 58 gl s
22000 + 300x < 35(500 + 10x)

4500 < 50x

x>90

. 500 + 10 x 90 = 1400




o= 1

DAy = —Sx+ b9 TARA T
e, yaEe - o AT, 14 5]
&2

N 7

xAHo] 0|2 (5, 0)& Adtt.
@ﬂﬁoz—%x5+wﬂﬁ%aﬂ

— 5
yAW b= oI}

s=5,1t=20B2 t+s=5+2="T0|Ct}

)




T

o

=

o

-

BiE;

o .
DY
‘mﬂ OM
=
Phy X
,mﬂ N
B M
N
R
ﬂmo ~
—
.Om dnL
SR
~
NooR
o &
QU
o)
B owr
o B

x O] 4Hj7} B o)t
@ ®E¥e] do)7t xem, =017t yem €

® y=

9] yo]&= 15cm?

47

1

<
I
Rl= 3
Il Il
ENEN
@ ©




